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7XMXDQ� GDUL� SHQHOLWLDQ� LQL� XQWXN� PHQJHWDKXL� SHQJDUXK� SHUEHGDDQ� WHPSRUHU��

SHUEHGDDQ� SHUPDQHQ� GDQ ERRN�WD[� GLIIHUHQFH� WHUKDGDS� SHUVLVWHQVL� ODED�

3HQJDPELODQ�VDPSHO�PHQJJXQDNDQ�PHWRGH�SXUSRVLYH�VDPSOLQJ SDGD�SHUXVDKDDQ�

PDQXIDNWXU� LQGXVWUL� EDUDQJ�NRQVXPVL�GL�%(,� WDKXQ������ � ������0RGHO�DQDOLVLV�

\DQJ�GLJXQDNDQ�GDODP�SHQHOLWLDQ� LQL�DGDODK� UHJUHVL� OLQLHU� EHUJDQGD GHQJDQ�KDVLO�

����VHFDUD�SDUVLDO�SHUEHGDDQ�WHPSRUHU�WLGDN�EHUSHQJDUXK�WHUKDGDS�SHUVLVWHQVL�ODED��

����VHFDUD�SDUVLDO�SHUEHGDDQ�SHUPDQHQ�EHUSHQJDUXK�WHUKDGDS�SHUVLVWHQVL�ODED������

GDQ� VHFDUD� VLPXOWDQ� ERRN�WD[� GLIIHUHQFH EHUSHQJDUXK WHUKDGDS� SHUVLVWHQVL� ODED��

'DQ�QLODL�DGMXVWHG�5� VHEHVDU�������YDULDEHO�LQGHSHQGHQ�ERRN�WD[�GLIIHUHQFH GDQ�

YDULDEHO�NRQWURO�DUXV�NDV�RSHUDVL�GDQ�XNXUDQ�SHUXVDKDDQ PHQMHODVNDQ�YDULDQ�GDUL�

YDULDEHO�SHUVLVWHQVL�ODED��

.DWD� NXQFL�� SHUVLVWHQVL� ODED�� ERRN�WD[� GLIIHUHQFH�� SHUEHGDDQ� WHPSRUHU��

SHUEHGDDQ�SHUPDQHQ��DUXV�NDV�RSHUDVL��XNXUDQ�SHUXVDKDDQ


